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01. flkaer 1, 592, 000 0 0 1, 592, 000
01. #iks 1, 592, 000 0 0 1, 592, 000
01. #ikar 1, 592, 000 0 0 1, 592, 000
02. FEULA 1, 000 0 0 1, 000
01. 7EAF]T 1, 000 0 0 1, 000
01. FEAF]+ 1, 000 0 0 1, 000
03. PEIA 5, 770, 000 0 0 5,770, 000
01. FAPEFEHAIR 5, 770, 000 0 0 5,770, 000
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01. RENFEEH 5, 770, 000 0 0 5,770, 000
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& 1,742,614
31 31 0 0
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5, 730, 000 5, 730, 000 0 0
5, 730, 000 5, 730, 000 0 0
5, 730, 000 5, 730, 000 0 0
01. d-HuFEHAIL 5, 770, 000 5, 730, 000 5, 730, 000 0 O|Fi PE X BT AT Hiu sz AV
A 5, 730, 000
7,472, 645 7,472, 645 0 0
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